
This is table 1:

Element 1 Element 2 Element 3
Element 41 Element 5 Element 6
Element 7 Element 8 Element 9

This is table 2:

Element 1 Element 2
Element 4 Element 5 Element 6
Element 7 µa + µs = µt Element 9

This is table 3:

Element 1 Element 2 Element 3
Element 4 Element 5 Element 6
Element 7 Element 8

This is table 4:

This is a table This table has four
columns. It has
borders and the
first two columns
are left justified.
The third column
is right justified.
The fourth column is
centered.

right justified centered text

This is the second row
of the same table.

How does it look? Good? Bad?

This is table 5:

This is a merged cell Element 3
Element 4 Element 5 Element 6
Element 7 Element 8

1Footnote in a table
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This is table 6:

Element 1
Element 4

Element 2 Element 3
Element 5 Element 6

Element 7 Element 8

This is table 7:

Element 1
Element 4

Element 2
Element 5

Element 3
Element 6

Element 7 Element 8

This is table 8:

Element 1
Element 4

Element 2
Element 3

Element 5 Element 6
Element 7 Element 8

This is table 9:

Element 1
Element 4
Element 2
Element 5

Element 3
Element 6

Element 7 Element 8

This is table 10:

Element 1 Element 4
Element 2
Element 5

Element 3
Element 6

Element 7 Element 8
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